
0-2-5
Fill the grid with the digits 0, 2 and 5. 
The digits must add up to the specified 
row and column sums. In each shape in 
the grid, all squares must contain the 
same digit. One shape from each grid 
must contain a set of diagonal mirrors 

that cause the lines of sight for each sum 
to change. All mirrors must be 
positioned the same way in the shape.
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You can find more puzzles by David 
Millar at http://thegriddle.net. Grab my 
RSS feed on the site or find me on 
Twitter at http://twitter.com/thegriddle 
if you want puzzle updates and more.


